Patent Law Course Outline
I. Theory

A. a negative right—patent gives right to exclude


B. justifications for the patent system



1) labor—just deserts



2) utility—welfare maximization




a) net social benefit at the end of the day, even if harms some people

3) U.S. Const. Art I, Section 8:“To Promote the Progress of Science and the useful Arts, by securing for limited Times to Authors and Inventors the exclusive Right to their respective Writings and Discoveries.” 

a) embraces utilitarianism


C. institutional structure



1) PTO examines and issues patents



2) BPAI handles disputes, including interferences



3) district courts hear invalidity/infringement



4) fed circuit hears appeals



5) SCt has the final say


D. issues of intangible property



1) non-rivalrous—multiple people can use information at the same time

a) only one person can write with a pencil at a time, but the instructions on how to make a pencil can be used by different people at the same time

b) overuse of information by multiple people may lead to depletion of resources and inefficiencies (tragedy of the commons)


2) appropriability problems

a) when information is non-rivalrous, the inventors can’t internalize/appropriate/recoup the profits/value of their inventions



a) solution—propertization 


E. costs of patent system and proposed solutions



1) costs




a) stifling of competition




b) transactional costs




c) administrative costs (courts, PTO, etc.)



2) proposed solutions

a) reward—have a gov’t panel that awards a fixed amount of money depending on “importance” of inventions




1. there might be “useless” inventions, subjective reward



b) lottery—doesn’t judge quality

c) auction—patents get filed, gov’t auction them off and give proceeds to inventor


1. have no control over how much you can get back



d) direct funding—gov’t gives money for all R&D

1. spending lots of money on ideas but ideas not focused, wasting money on things that won’t necessarily work

e) compulsory licensing—usually in the area of drugs, where innovation is needed by cost of acquisition is high, so gov’t may require that the innovation be licensed at a particular royalty rate

1. bad for people who invented things for the first time, since people profit by piggybacking; might not invest at all if not able to get anything back



3) issues of patent economics




a) letting initial innovator perform or organize subsequent inventions

1. if there’s broad initial patents, might be able to guide subsequent inventors; can delegate different parties to do different things

2. if lots of people go after the same thing, lots of redundant work(waste

3. what’s the problem with this?


a. limited scope of development

b. competition might get innovations faster than this scheme




b) issuing multiple patents

1. tragedy of the anticommons—too many exclusive rights, costs of organization too high, people can’t agree on licensing(underuse

2. upstream/downstream concept—original concepts don’t get used

3. patent thickets (too many rights)—for something like a computer, all different parts are patented; people might want to hold out to get more money



4. exacerbating factors—scope and validity

a. large scope—thicket problem would get worse, rights start to overlap(confusion





5. strategies

a. portfolios (MAD)—people collect a bunch of patents; people trade (cross-licensing) since fighting is not worth it







i. MAD—mutually assured of destruction






b. cross-licensing

c. but—“patent trolls” (companies formed for primary purpose of getting lots of patents together, buying them up so that they can charge people)
c) no tying arrangements allowed—can’t control market that you didn’t get patent for (Morton Salt)


4) other matters

a) issued patents carry the presumption of validity!  This means when an issued patent is challenged, the standard of review is clear and convincing evidence

b) gov’t can take compulsory license (§ 1498)

c) adjudication process





1. deference to the PTO

a. supposed to be more (court/PTO) than court/court(”substantial evidence” vs. “arbitrary and capricious”; the Gartside court went with the former

i. “substantial evidence” is a reasonable person standard—no reasonable factfinder would have found that

c. PTO can make procedural rules, but has no authority to make substantive rules, so court doesn’t have to give substantive rules any deference

2. when admin agency makes an interpretation, the interpretation should be followed if it’s reasonable


a. 2 steps—see if there’s a gap between statute and case






i. if none, don’t care about what agency says

ii. if gap, agency should give reasonable interpretation




d) reexamination




1. generally 2 types






a. ex parte—send in prior art

i. patentee requests reexamination—if it’s affirmed, it’s stronger

ii. director may order it (ex parte reexamination)

-sometimes it’s become so notoriously invalid that it gets media attn

-or internal procedures require it







iii. third party can request it

-send piece of prior art that weren’t examined in the first round, the office decides whether or not to examine; other than that, third party has no participation






b. legislation created another type—interparty examination

i. allows 3rd party challenger to participate more fully
ii. very rarely used—if you do this and lose, can’t go to court later and ask for review or raise the same reasons for invalidity; that’s why people would rather litigate and reserve right to appeal





2. may happen if there’s inequitable conduct
a. knowingly avoiding disclosure/certain references you know is material to patentability—breach of duty of candor
i. examination is an ex parte process—PTO relies on patentee to provide relevant information; if not for inequitable conduct doctrine, people would claim that based on their on interpretation, nothing violates

ii. not just applicable to the patentee, but the lawyer and assignee






b. equitable standard of review

c. duty to disclose (p. 1216)—test for inequitable conduct

i. materiality—if examiner thought it’s material to whether person will get patent

ii. intent—above gross negligence 

-Kingsdown—need to get to at least “should have known”
iii. sliding scale—facts reviewed for clear error; if there’s less evidence of materiality, need more on intent

d. it’s actually pretty easy to allege inequitable conduct

i. look at prior publications of patentee to show that they knew
e. remedy—patent isn’t invalid, but it’s unenforceable




e) double patenting




1. happens when 

a. PTO might think it’s 2 inventions, but you might think it’s only 1

i. restriction requirement—unity of invention; you can only get 1 patent for 1 invention, so a lot of people will try to claim so broadly so that they can get protection for multiple things; PTO would tell inventor to elect 1 invention and go on with that 





ii. have to separate them, prosecute them separately





b. people are drafting claims that are very close in scope

i. if have multiple claims in application, but have 1 claim that’s dependent and have to write another independent claim; if not careful, the new independent claim may have the same lineage as the ones from other independent claims

ii. this happens because people are trying to cover all the gaps





2. 2 types of double patenting—statutory and non-statutory

a. statutory—literal same invention claimed twice (same invention-type double patenting)






i. this is never allowed

ii. test—infringement-based analysis (if can’t infringe patent without infringing later patent)

b. non-statutory—not the same invention, but an obvious variation thereof; close enough that the PTO won’t issue patent (obvious-type double patenting)

i. question is whether obvious in light of prior patent
ii. this is allowed—it gets invention out faster but allows patentee to make an improved invention
iii. not fair to have an undue extension (wouldn’t have ordinarily gotten the patent since it’s obvious)
-can file terminal disclaimer so that it can’t extend beyond life of original patent, but it must have 2 important features
= dedicate the obvious portion of patent to the public (giving up certain term, can say 2nd patent (obvious variant) expires the same date

= PTO also require promise that you can’t assign/grant/convey 2nd patent without the other (have to be same owner)





3. burden of proof





a. non-statutory







i. look at claims of earlier issued patent







ii. look at prior art







iii. can’t look at written description of earlier patent




f) patent misuse




1. 271(d) was enacted to protect patentees against patent misuse

a. patent owner/holder risks liability of misuse when exploiting it to go beyond scope

2. tying arrangement would be one, but can still control market in other ways (Dawson)
3. can’t get royalties beyond expiration date—it’s per se misuse (Brulotte)
a. but OK if contemplate what happens if patent isn’t issued (Aronson)

II. Patentability


A. overview



1) disclosure (§112)



a) enablement




b) written description




c) best mode



2) novelty (§102)



a) anticipation




b) known or used by others




c) patented or described in a printed publication




d) earlier filed applications




e) must also avoid statutory bars



3) nonobviousness (§103)


4) made by listed inventors (§116) 



5) subject matter (§ 101) 


6) useful (§101)


B. disclosure

1) Disclosure set at time of filing and includes “specification” (written description) and original claims.  



a) specification under §112
1. The specification shall contain a written description of the invention, and of the manner and process of making and using it, in such full, clear, concise, and exact terms as to enable any person skilled in the art to which it pertains, or with which it is most nearly connected, to make and use the same, and shall set forth the best mode contemplated by the inventor of carrying out his invention.
b) continuation

1. “standard practice” to continue different versions of the same applications, watch the market, and if the language of the original disclosure permits, later add claims that cover competitor’s products, then watch for infringement

2. if rejected during prosecution (series of negotiations), can reword claims, etc.

3. if final rejection, can appeal or continue (pay fee, start over)

4. in prosecution, substantive amendments to the claims are allowed, but as general matter, can’t change substantive quality of written description (add new matter)

a. have to enable all embodiments in original application if you’re going to claim it later

c) general principles


1. quantity of disclosure is related to predictability in the art


2. measurement of disclosure is as of the filing date
a. Mahurkar—fed circuit rejected using other patents issued to Mahurkar to determine range, since the application’s §112 compliance should be judged as of the filing date

d) claims and/or specifications have to be enabling



2) enablement
a) standard for enablement—a person skilled in the art should be able to figure out what it is

1. can’t be so broad that it would have taken a lot of experimentation to get the product

a. the incandescent lightbulb problem—the Sawyer and Man patent was too broad because there were about 6K fibers of the type described that didn’t work; in order for a person skilled in the art to make it, would have needed undue experimentation


2. have to be roughly commensurate to the scope of the claim

b) why we need it


1. allows a person of ordinary skill in the art to make/use it

2. also allows improvements

c) whether something is enabled—courts have inconsistent rulings


1. incandescent lightbulb—the Sawyer and Man patent too broad

2. cf. In re Wands—court said that PTO should have looked at 4/9 that was actually tested, not 4/143 screened (there was 143 picked up in screens, only 9 were tested and out of that, only 4 worked)


3) written description

a) debate on whether there’s actually a distinct written description requirement in § 112, separate from enablement
1. no requirement—there has to be a writing, and the writing has to do what follows

2. yes requirement

a. looks like an independent requirement, and that could also be used to satisfy the other requirements

b. the comma separates written description and the other requirements




b) according to a commentator, written description has to explain 3 things

a. the invention itself 

i. cf Mahurkar—court seemed to say that the written description doesn’t have to do that
b. manner of making it/mode of putting it to practical use

c. complete knowledge to render invention available to public without further experimentation/exercise of inventive skill
b) “written” description doesn’t actually have to be in words


1. Mahurkar—diagram fulfilled requirement 
a. written description is different from enablement (how to make it)—it has to be “putting the public in possession”


i. but isn’t that enablement?

b. supposedly so simple and obvious that anyone could have figured out what the claims were from the diagrams, know what the claimed range was; no need to exclude all diameters that weren’t in the claimed range
c. fed circuit rejected the standard of requiring that the written description “describe what is novel or important” or concerning with “what the invention is”
d. on remand, the focus was on whether the drawings showed that the inventor had possession of the invention as of date of filing and whether the drawings reasonably demonstrated to those skilled in the arts that the inventor actually invented the claimed invention (answer was yes)
2. Kennescott Corp. v. Kyocera Int’l (note case after Mahurkar)—inherent descriptions
a. initial application had no diagrams or words describing invention’s microstructure, application just disclosed 30 examples of methods to make ceramics that would have that structure; someone else came along and made something with that structure, got a patent
b. court found that the first patentee’s claims covered that structure—if looked into microscope, would have seen the structure that’s inherently produced by the process



c) how specific description has to be 
1. under Mahurkar, didn’t have to be very specific, claims ended up being pretty broad with regard to the diameter range




2. Gentry Gallery is an anomaly

a. description was too specific(claims can’t be broader than the disclosure—fixed consoles between reclining seats, couldn’t be anywhere else since written description didn’t include other locations that the consoles could have been
b. a district court (Reiffin) read this case as an “omitted element” case (essential element originally disclosed in specifications left out from claims), but Judge Newman rejected this theory

3. U. of Rochester v. G.D. Searle—question of whether it’s possible to enable invention but not describe it

a. the inventor had talking about how to do the assay, how to identify the screened compound, but not what the compound is

b. court thinks written description is beyond “how to make” (suggests that written description is separate from enablement)
i. purpose of the written description requirement is to “ensure that the right to exclude, as set forth in the claims, does not overreach the inventors contribution to the field . . .”
ii. written description sets out bound to the claim, provides some support

d) still unclear as to what the written requirement standard is—whether it’s to understand what is claimed or to see if inventor is in possession of the claimed subject matter, but seems like the fed circuit is leaning to the latter


4) best mode




a) purpose of best mode

1. narrow down the amount of experimentation—if people were able to hold back some trade secrets, people will have to do experimentation, duplicate efforts

2. other people who use invention may use it poorly, or even in a dangerous way




b) 2 component inquiry





1. subjective—did the inventor know of best mode?

a. find out by asking inventor/other people for what inventor was thinking, look at objective evidence like how inventor uses the invention, studies conducted

b. disclosure of unclaimed subject matter

i. it would by an oversimplification to say that b/c a thing necessary to invention is not claimed, no need to disclose

ii. need to disclose enough to understand the best mode





2. objective—did the inventor conceal that best mode?

a. look at what’s being claimed

b. also evaluate through eyes of person skilled in the arts




c) what is enough to fulfill requirement
1. Randomex—only had to disclose which is the best mode, generic description is good enough (their own machine solution); no need for details

a. court said that the machine was being patented, not the solution





2. can’t lie about what the best mode is
a. Chemcast—they knew what the best mode was, but didn’t disclose information on it
i. tried to use the Randomex argument that the invention, not the material use, was being claimed, but it didn’t work
-bottom line: if unclaimed subject matter si essential to operate the best mode, you have to put it in

d) limits of obligations
1. have to disclose best mode to practice invention, but don’t need to tell people how to make manufacturing more efficient
a. however, if a particular manufacturing method is required to make invention work, have to disclose
2. not have to disclose best mode for manufacturing if everyone skilled in the arts knows it

C. Novelty



1) overview



a) invention must be novel, not part of public domain

1. if something is part of the public domain, everyone already knows how to make and use this thing; giving rights to one random individual to exclude the rights of others would be unfair

2. if purpose is to incentivize innovation, that purpose would be diluted; novelty forces people to look forward to create

a. if invention doesn’t do anything to help the public, the public would get little or no benefit while the individual benefits significantly through monopoly




b) when novelty requirement is not met, claims are anticipated




c) §102 has 2 general doctrinal pieces of subject matter





1. statutory bars (subsections b,c,d)





2. novelty (subsections a, e, f, g)

A person shall be entitled to a patent unless--

(a) the invention was known or used by others in this country, or patented or described in a printed publication in this or a foreign country, before the invention thereof by the applicant for patent, or
(e) the invention was described in 
(1) an application for patent, published under section 122(b), by another filed in the United States before the invention by the applicant for patent or 
(2) a patent granted on an application for patent by another filed in the United States before the invention by the applicant for patent, except that an international application filed under the treaty defined in section 351(a) shall have the effects for the purposes of this subsection of an application filed in the United States only if the international application designated the United States and was published under Article 21(2) of such treaty in the English language; or

(f) he did not himself invent the subject matter sought to be patented, or

(g)      (1) during the course of an interference 
conducted under section 135 or section 291, another inventor involved therein establishes, to the extent permitted in section 104, that before such person's invention thereof the invention was made by such other inventor and not abandoned, suppressed, or concealed, or 
(2) before such person's invention thereof, the invention was made in this country by another inventor who had not abandoned, suppressed, or concealed it. 
In determining priority of invention under this subsection, there shall be considered not only the respective dates of conception and reduction to practice of the invention, but also the reasonable diligence of one who was first to conceive and last to reduce to practice, from a time prior to conception by the other.




2) anticipation




a) 2 components in analysis

1. there has to be identity—prior hart has to have each and every element of the claimed invention

a. can’t get around this by adding elements to claims to say that not every element is met

i. Robertson—diaper fastener patent talks about 3rd mechanism, but the claims didn’t really require a 3rd tab
ii. however, can get around it by subtracting elements from claims 


b. express and inherent anticipation



i. for express anticipation, all elements match

ii. for inherent anticipation to occur, there has to be extrinsic evidence (a single reference) that proves “the missing descriptive matter is necessarily present in the thing described in the reference, and that it would be so recognized by persons of ordinary skill” (Robertson)

-in other words, the extrinsic evidence has to be really clear that prior art has each and every element

c. accidental anticipations aren’t really anticipations—even if each and every element is met, have to look at prior art’s contribution
i. Seaborg—prior art was Fermi’s experiments that also produced the new element, but the amount made under the Fermi patent was so miniscule that he probably didn’t really provide it to the public; if the inventor didn’t even know it was made, we won’t let that anticipate
2. the prior art disclosure has to enable the claim sought
a. but the § 102 standard is lower than § 112—the double standard

i. the disclosure requirement is different for enablement and anticipation—your disclosure may not be sufficient for enablement, but it is for anticipation

-Hafner—inventor’s first patent was rejected, files another one but ended up being anticipated by his first rejected patent

ii. the difference between the two—lesser standard for §102, higher standard for §112 

-in other words, if it’s described in publications elsewhere but not in great detail or teach how to make/use, it might be anticipated

iii. if this double standard didn’t exist, people would be able to patent the same product itself (listing different uses), exclude each other from using the same element 

-better to screen out potential patents with lower standard first
iv. general rule is that inventors can’t get patents on old products simply because they discovered new uses for them
-if inventor claims a structure, entitled to exclusive rights of all properties of the structure, even those not yet discovered

-conversely, if someone else already discovered/made the structure/compound/alloy but didn’t discover the newly claimed properties, the prior art still anticipates (Titanium Metals)
-but if prior art lists alloys but author also said he’s unable to make them, no anticipation (In re Wiggins—mere speculation of alloy’s existence)
-new inventors can get process patents, but they’ll be subservient to patent on the structure

b. minimum disclosure to meet enablement under §102—noninforming products

i. products/systems that are publicly available but don’t inform public about how product was created/how it works can also anticipate; doesn’t matter even if the enabling information is proprietary (Lockwood v. American Airlines)






c. genus and species problems
i. bottom line: if you claim a range, better hope that prior art doesn’t fall into it, but if you claim a single thing that falls within someone else’s range, can avoid anticipation by finding something special about that species

-genus vs. species—genus would be the entire class of things, species is just one item within a genus

-a species can anticipate a genus, but not necessarily the other way around—anticipation requires not only disclosure of genus, but also a specific direction to the particular species (similar to finding new improvements on old technology)

i. examples of range coverage

-Titanium Metals—if you claim a range of alloy composition, better hope that no prior art falls in that range even if prior art makes no mention of the special property

-hypo 1: Inventor’s claim 1 covers a class containing 26 compounds, A to Z.  A prior art reference discloses compound L sufficiently to meet the enablement requirement of § 102.  Prior art anticipates
-hypo 2: Inventor’s claim 1 covers compound L.  A prior art reference discloses a class of 26 compounds, A to Z, that includes compound L.  The disclosure satisfies the enablement requirement of § 102 for the class

=not always anticipated—if you find something special about the species in the range, that’s how you avoid anticipation

=you have to demonstrate that L is somehow superior, not in prior disclosure
=problem—even if you get a patent for it, still blocked by person with prior art patent (you can block others, but they can block too); this situation is like the Fermi patent in Seaborg, which ended up not blocking


3) known or used by others (§102(a))
a) what counts as “known by others”—the prior knowledge has to be reasonably accessible to the public
1. Nat’l Tractor Pullers Ass’n—drawings on tablecloth, seen only by a few people who drew them, drawings destroyed(not public
a. based on the “few persons working together” and “reasonably accessible to the public” language, there might be anticipation if lots of people had worked on it

2. even if it was in public domain, doesn’t count as “known by others” if it fell out of public domain
a. Gaylor—someone invented a safe, kept the knowhow secret, the safe got lost somewhere(no anticipation since it’s no longer in public domain
3. as long as the public can see it, it counts as publicly accessible

a. Rosarie—no affirmative steps to disclose public (never filed patent or published), but also never hid it from public.  Since the process was performed in public, counts as publicly accessible



b) what counts as “used by others”




1. nonsecret use in the usual/ordinary course of business (Rosarie)
a. rationale—part of patent law is to inform the public, and if done in part of business, people in the trade can get this information

b. if this wasn’t the rule and instead require disclosure to mean affirmative disclosure, someone can watch a competitor use otherwise undisclosed tech, run off and get patent



4) printed publications (§102(a))
a) need sufficient disclosure and sufficient circulation, but of course those terms are open to interpretation


1. Jockmus—50 copies was enough


2. has to be available to the general public

b) types of publications—something that’s indexed meaningfully, catalog, and has something pointing to it




1. a catalog printed in a foreign language counts (Jockmus)
2. graduate thesis available in a university library also counts, even if it’s not published (Hall)
3. but if it’s a confidential internal document that ends up getting widely distributed, not count (Aluminum Co. of Am. v. Reynolds Metal Co.)
4. by indexing meaningfully, I meant in a way where someone with one piece of information about the publication can find it 

a. if all you know is the author’s name and you are only allowed to search by subject matter, no correlation between the 2(won’t be able to find it



c) when publication is deemed “publicly available”
1. when at least 1 member of general public gets it—getting it to publisher not enough, has to be in a mailbox





2. when it’s accessible in a library


5) what counts as “patented” (§102(a))
a) when the patent is a foreign patent, have to meet the other requirements 
1. Reeves Bros.—even if information is already known and used by someone in another country, the foreign patent wasn’t a printed publication(can’t be used for anticipation




b) if something is disclosed but not claimed, not actually patented



6) secret prior art (§102(e))
a) back in the day, patent applications were secret; to comply with international treaty obligations, have to publish them after 18 months unless you take steps to keep it secret




1. that information can be prior art under 102(e)(1)
a. Milburn—didn’t matter that the later claimant didn’t know about the first person’s patent application

i. nowadays, even if patents aren’t prosecuted, they still get published
b) under 102(e)(2), if someone files application and then a second person does it, the first will be considered prior art for the second application 



1. applies to foreign applications as well

c) justifications for §102(e)—preserves the first to invent = first to patent system
1. if we don’t have it, delays at PTO will be a factor in who gets the patent

2. the public will get access to this information, and not necessarily through the issue of a patent


7) can only patent if you’re the one who invented it (§102(f))


a) can’t get patent that is “derived” from another (Campbell)
b) derivation happens when people work together, share information, then some of those suggestions turn into a derivation

1. but it’s not a problem when you’ve already started work and someone makes a suggestion, especially if the person making suggestions was hired by you for that purpose (Agawam)

c) if you’re alleging derivation, need to meet the corroboration requirement (proof of prior conception by another)


1. need things like lab notebooks or other records (Campbell)


8) priority—who invented first (§102(g))



a) anatomy of §102(g) 
1. (1)—priority given to the person inventing it first as long as not abandon/conceal/suppress


a. exclusively for interferences

b. §104 is on where you can get evidence for interference (now we can get it from industrialized countries)




2. (2)—broader scope

a. made in this country that hadn’t abandoned/suppressed/ concealed




b. creates separate class of prior art—those in the US





c. applies to circumstances other than interference

3. the “third paragraph” is appended to paragraph 2—sets out principles of who in law is the first inventor




b) terminology
1. interference—at the PTO level, can be between existing patents, between pending and issued patents, or 2 pending patents
a. standard of review is clear and convincing whenever an issued patent is involved, preponderance when between 2 pending patents
b. if you are the second to file (junior party), have burden of proof to demonstrate you’re the first to conceive




2. conception—mental act of invention

3. reduction to practice (RTP)—building or creation of a working model

a. if it’s a method, demonstrate that you’ve performed the method

4. constructive RTP (cRTP)—refers to filing of patent application  meeting requirements of 35 USC §112




c) general principles





1. according to book






a. the first person to RTP is entitled to priority






b. filing a valid application constitutes cRTP

c. first to conceive prevails over first to RTP if first to conceive was diligent to RTP before the second inventor’s conception

d. any RTP that’s been abandoned/suppressed/concealed is disregarded
2. according to lecture

a. general principle—the first to RTP is entitled to priority except when

i. the second person to RTP is really the first to conceive and used reasonable diligence

ii. the first person to RTP had abandoned/suppressed/concealed




3. looking at individual components





a. reasonable diligence 

i. relevant between the second person’s conception and the first person’s RTP; not relevant if RTP at the same time
ii. it’s a factual question

iii. factors—illness, resources, difficulty of invention to put into practice (Christie v. Seybold)
-not doing anything because you can’t make money off of it isn’t good enough a reason for lack of due diligence

-could have fulfilled requirement by filing an application (considered cRTP)





b. conception

i. can use printed publications as evidence of conception






c. RTP

i. can’t use printed publications as evidence of RTP—must use either actual RTP or cRTP
-rationale—if printed publications are considered RTP, people will hold off on filing; the sooner you file, the sooner the monopoly is over, so it’s better to get you to file sooner

ii. if you don’t file, seems like an abandonment; people rely on it and use invention when patent cuts off use






d. suppression







i. can be entirely unintentional

-Peeler—inventor RTP’d, handed invention over to Monsanto, Monsanto lawyers didn’t bother filing until someone else did

ii. court allows “reasonable” amount of time to delay filing, but long gaps of doing nothing creates presumption of suppression
-policy—don’t want rights popping up out of nowhere in the future

-in order to rebut presumption, have to show that you’ve been doing something to improve the invention

= however, can’t use delay to work on commercialization of invention or inventions not mentioned in application (not clear if it has to be in the claim)

= being poor isn’t an excuse

iii. if work is resumed before second inventor’s conception, suppression would be disregarded

-while the 4 year gap was too long in Peeler, the 5-year gap in Paulik v. Rizkalla was OK since Paulik resumed working on project right before Rizkalla filed
-difference was in proving conception—if Rizkalla proved conception during the suppression period, could have gotten priority





4. possible scenarios

a. A and B conceive same time, A RTP first—A wins (first to RTP)

b. B conceives first, both RTP same time—B wins (first to conceive); unlike Christie, RTP at the same time(diligence irrelevant
c. both conceived and RTP’d simultaneously—neither win

i. filing isn’t treated as constructive—constructive is a fiction, treating something that isn’t real as real
ii. cRTP is a substitute for actual practice
 d) 102(g) prior art—usually for interferences, but can be used outside of interference as a source of prior art 

1. also deals with secret prior art like §102(e)

a. however, §102(g) doesn’t deal with public accessibility, but it does deal with abandoned/suppressed/concealed
2. §102(g) has 2 main effects

a. controls priority disputes between competing patent applicants

b. allows certain inventions that ultimately become publicly available (and likely to be 102(a) prior art) to gain an effective date as a prior art reference that is before the invention became public

3. breakdown of sections (already did this before, but this time particularly for prior art purposes



a. (g)(1) is for interference

i. statutory language—during the course of an interference conducted...another inventor involved therein establishes...that before such person's invention thereof the invention was made by such other inventor and not abandoned, suppressed, or concealed 




b. (g)(2) is for other circumstances

i. for an invention to qualify as prior art, the prior inventor has to know/appreciate that he conceived an invention 
-but it doesn’t matter whether the inventor knows it’s patentable (Dow v. AVI)


ii. the prior invention has to be made in this country

3. the 3rd paragraph states the priority rule

i. statutory language—in determining priority of invention under this subsection, there shall be considered not only the respective dates of conception and reduction to practice of the invention, but also the reasonable diligence of one who was first to conceive and last to reduce to practice, from a time prior to conception by the other.



4. different from other §102 priority rules
a. mere publication can qualify as prior art under § 102(a), but §102(g) prior art has to be an invention (conception + RTP)
b. §102(e) applies when prior-filed application discloses but doesn’t claim an invention, but §102(g) require that both applications must claim the same invention
c. an invention not claimed in a US patent can be considered prior art under §102(g) only if they were made in this country; §102(a) doesn’t have the territorial requirement

e) Rule 131 (37 CFR §1.131)—allows patent applicant to show (with proof) invention before the date of a prior art reference (antedating)

1. can’t be used where the allegedly anticipatory reference is a US patent/application claiming the same invention
2. can’t be used if patent is rejected based on statutory bar
9) statutory bars—other things that can bar patent applicant from being entitled to patent, even if the applicant was the first inventor of the claimed invention



a) in §102 b, c, d


(b) the invention was 
-patented or described in a printed publication 

-in this or a foreign country or 
-in public use or 
-on sale 
-in this country, more than one year prior to the date of the application for patent in the United States, or

(c) he has abandoned the invention, or

(d) the invention was first patented or caused to be patented, or was the subject of an inventor's certificate, by the applicant or his legal representatives or assigns in a foreign country prior to the date of the application for patent in this country on an application for patent or inventor's certificate filed more than twelve months before the filing of the application in the United States

b) different from novelty

1. triggered after the date of invention



a. usually when people delay filing

2. novelty rewards inventor to ensure that society will get something new, but statutory bar incentivizes early disclosure


a. increased reliability of public information


b. faster dissemination of new info and claims


c. early termination of patent rights




c) trade secrets

1. can’t keep trade secrets and then expect to get a patent to maintain exclusivity and stave off competition once competitors catch on and create their own products to challenge you 

a. Pennock—developed a strong hose, kept it secret for as long as possible until competitors caught on, then filed a patent.  Patent Act granted patents only if “not known or used before application”



d) public use
1. even 1 item being used is enough

2. doesn’t depend on number of people using it, but does depend on whether inventor puts restrictions on use or makes it secret

a. Egbert—only made a few corsets for family, no one else saw it, but there were no restrictions

b. cf Moleculon—rubix cube inventor kept it at desk, showed it to friends, but court didn’t think it was unrestricted use; even if he tells people how it works, he didn’t let his model go, while the corset went all over the place
c. different from Nat’l Tractor—few people working together is OK then, but it referred to prior art
i. the §102(a) language “known or used by others” in this country doesn’t refer to public use

ii. what qualifies under 102(a) doesn’t necessarily qualify under 102(b)

-102(b) goes more to commercial advantage; if no one filed patent, other people who want to enter into the market would have expended a lot of resources only to find out the inventor barred others from continuing, especially when inventor caused it to be publicly available in the first place

2. if it’s commercialized, it’s public use (the on-sale bar)
a. but assigning rights to invention isn’t public use 

i. Moleculon—didn’t invent it with commercialization in mind
b. if the output is sold but the process is kept secret, it’s still public use 

i. Metallizing—process for coating metal wasn’t made public, but the process was considered public use because the sprayed metal was sold





c. no need for reduction to practice

i. Pfaff—theoretical designs of chips were sold, the chips themselves weren’t sold yet

ii. although the SCt rejected a “substantially completed” rule in Pfaff, SCt’s own rule (2 condition before critical date) is pretty much the same


-there has to be a commercial offer


-ready to be patented

= something that’s reduced to practice certainly fits the bill

= not need to be perfect, enough to describe something sufficiently enabling

d. even if you’re giving the embodiment away, still getting something in return(violation of the on-sale bar

3. if you physically give away your invention, even with promise to keep it secret, it’s public use

4. but if it’s just used for testing of quality (experimental use), it’s not public use

5. public use has to be in this country
a. Gore—patent for process of making Goretex, someone from New Zealand came up with machine to make it, but it doesn’t invalidate patent since it’s outside of the US
b. in Gore, the user of the machine tried to sell it to someone in the US, but still not invalidate since it’s not “known” in this country (showed the machine but people can’t figure out the process from it, process still secret)



e) experimental use exception to on-sale bar




1. can get out of §102(b) if able to claim experimental use

a. but need to keep records, have control over it/supervise to prove that it was used for experiments ; otherwise it might be “public use”

i. Lough—didn’t charge money, installed a few prototypes and gave a few away)





b. currently it’s a matter of law






c. rationale for experimental use
i. sometimes certain invention needs time for refinement, and some can only be tested on pavement—if not allow it, would be discriminating certain types of investment

ii. if we let inventors experiment, we let them refine it somewhat so that we know it works for the purpose they’d like to use it for

2. City of Elizabeth v. Am. Nicholson Pavement Co.—example of experimental use
a. he made regular observations (asked toll bridge operator about it, poked at it, etc.)

b. he had no control over who goes on it
3. experimental sales and sham sales are OK, but market testing (seeing whether people will buy it) violates the on-sale bar
a. sham sale (Mahurkar)—Mahukar had a licensing agreement with someone before patent was filed, that the licensing agreement would be voided if no sales during a certain time.  In an effort to keep agreement going, the licensee had a friend buy it; Mahurkar claimed it was a sham sale
b. experimental/conditional sale (Mansville Sales Corp. v. Paramount Systems)—light pole setup installed at rest stop for testing, city will buy more if it works; city officials had to sign confidentiality agreements not to disclose confidential information to the public, invention was too high for the public to see
c. market testing doesn’t actually improve the invention itself




4. has to be tested for or by the inventor trying to patent
a. Baxter—the person testing centrifuge didn’t know the inventor, used it in a lab for own experiments, lots of public traffic, no effort to keep it secret
b. if people are already using it, allowing someone to patent the invention would take it out of public domain


D. Obviousness



1) who are we trying to encourage?

a) people who wouldn’t have otherwise do things on their own, people who won’t/can’t invent because it’s too costly

b) even for people who like to tinker, gives them more of an economic incentive to spend time on it 

1. more productivity, give invention a higher priority out of other things they do in life

c) raising the bar for obviousness helps get better quality, as opposed to poor quality and high quantity of ideas



2) determining obviousness

a) according to the dictionary, something is obvious when it’s easily discovered, seen, understood

b) early cases 
1. courts attempted to distinguish mechanical skill from inventive genius

a. Hotchkiss (used porcelain or clay and different connections for door knobs instead of metal and wood, a huge hit, but obvious), Rubber Tip Pencil


b. Cuno Engineering—the Flash of Creative Genius test
a. “must reveal flash of creative genius, not merely the skill of the calling”


2. doesn’t matter if it’s popular on the market

a. Great A&P, Hotchkiss




3. the invention has to exceed the sum of parts used (synergism)
a. Great A&P v. Supermarket Equip. Corp—new cashier’s counter extension, huge hit in the market, but court said it’s a combination of old inventions



c) §103 (from Patent Act of 1952) was an attempt to define obviousness
1. no patent if the subject matter to be patented and prior art are obvious as a whole
2. patent not negatived by manner in which invention was made

a. clarifies what happens for accidental inventions—just as good as other inventions

b. undercuts the mechanical ability/inventive genius distinction

i. lots of inventions are either tiny incremental advances like corporate/academic research (which the SCt wouldn’t have like, too small to be patentable) or accidents

d) the Graham inquiry—obviousness as a question of law but with factual inquiry
1. SCt thought §103 is just a rehash of existing jurisprudence, SCt decides what the constitutional standards are

2. today’s Graham inquiry framework has 3 factors for the factual inquiry, and secondary considerations





a. scope/content of prior art
i. sources of prior art
-under 102, the prior art has to teach every element (for novelty, anticipation); in 103, one piece of prior art can be on a particular aspect of the invention, so what could be used for 103 might not be good for 102
-102(a) and (b) prior art are OK

-Hazeltine—secret prior art is good for obviousness as well (reliance on information they don’t have…how is it possible?)

= more like people would have known to do it

= not indicative of what inventor knew (clearly can’t rely on something he doesn’t known about), but steps closer to how to do it (logical to everyone)








-In re Bass--§102(g) prior art can be used









= no personal knowledge required
= lost counts—if A won interference and B claimed something that’s obvious in light of the counts he lost on, those claims will be rejected
-under §103(c), NOT prior art if from same person/company (that would have been prior art under §102(e)-(g))

-for anticipation, the prior art can be from anywhere, but for obviousness, limited to analogous art (In re Clay)

= look at literature of the same field to see what kinds of concepts have already been discovered (field of endeavor)

= reasonably pertinent to the particular problem in which inventor is involved
-won’t hold it against inventor if a PHOSITA (person having ordinary skill in the art) wouldn’t have looked to that source

= PHOSITA would have collected all of those references and have them in mind





b. differences between prior art and claims at issue
i. combinations of prior art
-happens when reference 1 discloses X and Y, reference 2 discloses Y and Z, and the question is whether combo of X and Z is obvious

-rule—there must be teaching suggestion or motivation to combine the references to reject the patent (Dembiczak)
-in order to be obvious, there has to be a reason to pull all those elements together (ex ante, avoids hindsight)

-sources of teaching suggestion/ motivation—can be explicit or implicit
-prior art

-the knowledge of one of ordinary skill in the art (diminished in KSR—see below)
-nature of the problem to be solved = once you figure out what the problem is you can go grab any piece of prior art and assemble it to solve your problem. once you know the problem, then you go grab things (but this is hindsight)

-the teaching suggestion motivation must be sufficient to give a PHOSITA a reasonable expectation of success

-Obvious to try isn’t sufficient

-however, in KSR v. Teleflex, the PHOSITA’s knowledge is irrelevant, only care about what’s written in the reference

-fed circuit said that the teaching, suggestion, or motivation test requires that there be a paper out there that says something, but this goes against idea that the teaching can be explicit or implicit





c. level of ordinary skill 
i. in Graham, court said that people who knew about plows would have figured out the problem
d. secondary considerations—commercial success, long felt but unsolved need, failure of others
i. must have some nexus between the claimed subject matter (invention) and the claimed secondary consideration 

ii. spotlight on failure of others
-not invalid if prior art “teaches away” from doing something 

= Adams—combination of certain compounds were known to be explosive, but Adams found a way to do it)

= cf other situations where prior art suggests the invention is feasible, or remains silent








-unexpected results (Adams—it worked!)

-people copied Adams’ version of the battery, Army refused to pay
iii. caveat—courts have started to pull away from secondary considerations





3. rationale
a. ties back with notion of “constitutional standard”—only the judiciary is fit to deal with it
b. gives SCt more opportunity to review standard—if question of fact, harder to overturn
c. keep up with technical advances, not so rigid a rule
d. no deference needed for the PTO if it’s a question of law

 



4. even though §103 is around, the synergism test is still used
a. Anderson—process was heating asphalt a certain way, no synergistic effect

b. Sakraida—method of flushing out water released at some speed not patentable

i. the last time SCt weighed in on obviousness

ii. SCt did the synergism analysis under the scope/content of prior art factor of the Graham inquiry (combination of prior art)

E. inventorship—person applying for patent has to be the one who invented



1) misjoinder—including people who shouldn’t have been on there




a) names can be removed



2) non-joinder—when people get left off




a) rules on nonjoinder




1. can’t be repaired unless court or director approval

2. adding people back on—have to look at intent of leaving people off

a. as long as the person not listed didn’t have a deceptive intent for leaving self off, can be added on

b. even if the person is innocently left off, that person can’t enforce patent if the filer had deceptive intent

c. once you add them back, still have to worry about inequitable conduct (whether it’s deceptive)

i. have to file an oath

3) if someone is left off, that person has power to grant license for use but can’t cure past infringement (Ethicon)
4) standing to sue


a) all inventors have to consent in suing someone for infringement
5) only individuals, not corporations, can apply for patents, but there are exceptions

a) shop rights—if use ER’s space and resources, ER has right to use on premises but can’t license it or sell it

b) if you hire them specifically to solve some type of problem for you and they fulfilled that fx, company is the owner


F. subject matter



1) only certain things are patentable

a) §101—whoever invents new and useful process, manufacturing, composition of matter, or material




b) can be “anything under the sun” except

1. law of nature, physical/natural phenomena, abstract intellectual concept

a. algorithm itself not patentable (Benson), but increasing trend of allowing algorithms combined with machine to do something 

a. Diamond—transformative effect
b. AT&T v. Excel—algorithms to track people who received calls; invalidated on obviousness, but otherwise OK






b. State Street—business methods are OK, didn’t used to be




2. things not made by man

a. can’t patent rocks or newly discovered species

b. if it’s purification of natural products, have to be to a point where it can’t exist in nature (Parke-Davis)
c. can’t just repackage nature (Funk Bros.)


G. utility



1) must have a single credible use


2) types of utility




a) operable—works for the purpose you’ve described

1. how would the PTO know if you’re telling the truth?  Someone skilled in the art looks at it to see if plausible perhaps, but nothing more to say

2. PTO is supposed to presume that it works; if there are reasonable doubts, can reject application under §101

3. there are special categories that they reject has having no operable utility




a. perpetual motion machines




b. cold fusion devices




b) beneficial  





1. Lowell—can’t be mischievous or have injurious effect, immoral




c) practical/specific

1. now trending toward higher utility requirement—have to know what it’s useful for (Brenner)

III. claim construction and infringement


A. claims


1) why they’re important

a) the notice function: claim tells people what they’re not allowed to do—the purpose of claims (think back to §112 standards)





1. claims tell us what the invention is

a. enablement—tells people how to use the invention, but the claims tell us what the invention is





2. claims manipulate whether you’ll get a patent

a. when you’re amending the claim, you’re essentially changing the invention

i. examiner is comparing what’s in the written description to what the claims actually say; when claims are rejected, you can say that the examiner misunderstood your claim and change it so that examiner understands it



2) claim interpretation




a) 2 interpretive paradigms




1. proceduralist approach

a. look to claims for primary importance to person skilled to the art—if understand language, start from there unless clear statement in intrinsic record indicating otherwise

b. then look for clear statement that cuts back on language—broader term would be narrowed down

c. defendants don’t like this—claims will be construed broadly

d. under Phillips, looks like fed cir is moving away from this approach (see 3/7 lecture)
2. holistic approach—whatever you want to use to figure out claim (totality of circumstances)

a. don’t mention claim language often or give it primacy; more likely to look into written description to figure out what invention actually is

b. the claim either covers or not cover something






c. plaintiffs don’t like this approach




b) 2 sources of interpretation (Autogiro)


1. language of specification (written description and claims)

a. lexicography—you can define terms of claims within the patent itself, especially for words used in a sense that deviates from plain meaning (more like redefinition; reading claims “in light of” other claims)

i. Johnson Worldwide—court favors the plain meaning interpretation of claim language, on its own terms; pushes patentees to be more clear

b. can’t import limitations from written description into claims (unlawful)

i. but Cultor—didn’t care about language of claims, looked at written description

ii. Innova—can only do it if claims themselves refer to embodiments in the specifications

2. prosecution hx—there might be a discussion between PTO and patentee about what certain claim terms should mean

a. if scope includes lots of prior art, might either amend or say examiner doesn’t understand term



b. claims are written in a funnel-like configuration 

i. independent claims are the broadest claims—descriptive language, not really tell you what it is




ii. additional limitations in dependent claims

iii. for dependent claims to be infringed, the independent claim has to be infringed as well

c. as a rule, if an applicant clearly surrenders claim scope in the course of prosecution, claims may be limited in literal scope



c) canons of interpretation





1. Plain meaning of claim terms should be given full effect

2. Language in preamble does not limit a claim unless it breathes life and meaning into a claim

a. when it “breathes life” into claim



i. Clear structural definitions


ii. Same words in preamble and body of the claim
iii. Explanations of purpose, naming, or general descriptive information will usually not be limiting
3. The meaning of a claim term is presumed the same in different claims

a. notion that it’s all 1 patent, probably reason for using same term (talking about the same thing)

4. All words are presumed to have meaning in a claim
5. use of different words in a claim indicates that the patentee intended a different meaning (like claim differentiation; term differentiation)

6. claims must be read in light of the written description, BUT limitations may not be imported from the Written Description
a. also, it’s generally inappropriate for court to limit claim to the disclosed embodiments

d) claim differentiation doctrine—fairly powerful doctrine 
1. applicants don’t use 2 claims when 1 will do, so if 1 claim includes a limitation and another omits it, the claims cover different subject matter

2. limitations in 1 claim won’t be read into another claim

d) claim interpretation is a matter of law, but have to look at facts (Markman)
1. Markman hearings—a mini litigation before jury gets the case, sometimes before trial even starts

a. form of motions practice—before you have trial, judge and parties call witnesses, experts to ID what claims mean

b. judge would issue Markman order saying what judge interprets claim language to mean

c. if you lose in a Markman hearing, can get interlocutory appeal, but fed circuit hasn’t taken one up yet



3) claim construction




a) transitional phrases

1. comprising—an “open-ended” transitional phrase that includes the express elements plus the addition of any other elements
a. example—“a chair comprising: a horizontally disposed wooden base, 2 cylindrical supports associated w/said base a upright back.”  A chair with any number of legs would infringe
b. but if it’s lacking an element (like a back), there’s no infringement!

2. consisting—“closed” phrase which includes only the express elements (what I’m claiming only includes...).  Additional things are beyond the claim 

a. try to avoid this if you can

b. example—if “a chair consisting of 3 legs,” a 4-legged chair would not be infringing

3. consisting essentially of—somewhere in between.  All it means is that it’s not closed, but not fully open-ended; all express elements plus some additional elements, but not any additional elements




b) §112 ¶6
1. years ago, SCt made it illegal to have functional claims, so Congress overrode it with this statute

An element in a claim for a combination may be expressed as a means or step for performing a specified function without the recital of structure, material, or acts in support thereof, and such claim shall be construed to cover the corresponding structure, material, or acts described in the specification and equivalents thereof. 

2. as a practical matter, the claims generally end up being narrower than claims that aren’t functionally claimed

3. nowadays, when we see the word “means,” it’s a signal that a functional claim is going on—court should interpret it as a means plus function claim

a. if we don’t see the word, we presume it’s not a functional claim
b. if there’s no means and no structures recited, court will have to review it as a functional claim based on what’s in written description

i. if the word is used and no structure can be found, claims will be indefinite(invalid

c. if the word is present but same limitation also recites to structure, presumption is rebutted since it can’t be interpreted as function
d. examples
i. “cell means”—cell is pretty structural, so no reason to construe it functionally (argue that means just used indiscriminately)

ii. “means for generating a light pattern”—pretty much functional (generating a light pattern)

-if things are in gerund form, generally functional

iii. “photon detector means for detecting emitted light”—fairly structural


B. infringement


1) under §271(a) of the Patent Act



2) 2-step process by courts




a) look at scope of the claimed invention (claim interpretation)




b) compare allegedly infringing article to scope of claims

3) 2 forms of infringement

a) direct infringement


1. literal infringement

a. all elements rule—to have literal infringement, the device has to have each and every element of the invention claimed
i. recall that “comprising of” can include other elements, so it’s easy to infringe under that language

ii. under “consisting of,” more limited and harder to infringe
b. doesn’t matter if intentional or willful—willfulness only goes to damages

2. doctrine of equivalents

a. idea of not letting people get away with infringement by making trivial modifications, practicing fraud on patents 

i. Winans—cylindrical vs. octagonal shape of funnel

ii. criticism—DOE eliminates notice function, people can’t tell what rights are

b. relevant factors (Graver Tank)

i. prior art—person skilled in the art would know to substitute


ii. similar modes of operation

iii. look at context of patent, prior art, circumstances, why substance in patent, etc.

iv. these factors look like obviousness, but it’s not, and can’t be used to argue obviousness






c. legal standard—the triple identity test

i. originally—substantially same function, substantially same ways to achieve substantially same results
ii. now—insubstantial differences

d. limitations of DOE—DOE is a question of fact, but can use questions of law to take it away from the jury
i. the all elements rule—won’t apply DOE as a whole, only with individual elements (Warner-Jenkins)
-look for equivalents of individual elements (instead of in Winans where court look to equivalent “modes of operation”)

ii. prosecution history estoppel—if you surrender subject matter, can’t recover it during the course of prosecution 
-flexible (Festo)—factors to consider
= hard to foresee equivalent, tangential relationship, “some other reason[]”


-amendments that trigger estoppel

= response to prior art conflict (§ 102-103)

= when made for reasons of patentability—if what you claim couldn’t have been patented without modifications, shouldn’t be able to claim things outside of scope

iii. vitiation—if you have claim for black and you have white, white != black (black would vitiate white)
-strategy—characterize something as a binary choice 

iv. disclosure dedication doctrine (Johnston)—if you disclose but not claim, can’t capture it under DOE





e. effect of prior art
i. method for determining whether there’s equivalent—hypothetical claim that covers accused device, then see whether patentee could have made that claim (Wilson)
-not just anticipatory art that limits DOE, but anything that patentee couldn’t have claimed because of prior art (so this involves both anticipation and obviousness)

-basically, can’t capture something through DOE something that you couldn’t have claimed in the first place




3. reverse DOE






a. DOE isn’t always applied in favor to the patentee
i. accused device is so different that it can’t be called infringement

b. useful for encouraging improvements, but hasn’t been used very often

i. inhibits people from inventing really pioneering when invention doesn’t work very well

ii. things infringe when it wasn’t thought of as infringement by original inventor

4. equivalents for means-plus-function claims—2 forms of literal infringement of § 112 ¶6 claims






a. same f(x), same structure—literal infringment

b. same f(x), equivalent structure also literal, but §112 ¶ 6 equivalents

i. a §112 ¶6 claim can’t ever include an after-arising equivalent, have to know it at the time of drafting

ii. if it’s an after-arising equivalent, go to DOE (equivalent f(x), equivalent structure)



b) indirect infringement




1. 2 types






a. contributory infringement







i. depends largely on intent






b. infringement inducement






i. catchall for other forms of indirect infringement

ii. actually requires for party to intend for infringement—very hard to prove

-i.e. if you tell other people how to use it in an infringing way (see e.g., CR Bard—doctors figured it out for themselves, seller didn’t tell them)




2. reconstruction-repair dichotomy—this is an issue of law





a. if you buy something, you have implied license to repair






b. if you almost destroy it, can’t rebuild






c. only relevant if you have the right to use



4) exceptions to infringement

a) the experimental use exception—must be using patented invention purely for amusement, curiosity, philosophical exploration, etc.

1. not experimental when used to further business 

a. Roche v. Bolar—Bolar got started just before Roche’s patent expired in order to get a head start on the generics market

b. as long as related to course of business, can’t take advantage of experimental use

i. Madey v. Duke U—grad student training is course of business

2. court said experimental use is meant to be narrow, but 6 months after Bolar, the Hatch-Waxman Act makes Bolar’s activities legal
a. §271(e)—not infringement if used, sell, etc. sole for uses “reasonably related” to drugs, etc.
i. originally fed cir said “reasonably related” is to be narrowly construed—if using the drug to generate data for the FDA, falls under safe harbor provision of §271 (Merck AG v. Integra)—but SCt rejected narrow approach
b. abbreviated New Drug Application so that generic companies can piggyback on what other companies have submitted for original drug

c. patent term restoration (for time spent for FDA approval), right to sue right away plus automatic 30-month stay against infringers

3. hard to prove what’s really experimental or causing economic harm

IV. Remedies

A. overview
1) can get preliminary/permanent injunctions, damages (lost profits/reasonable royalties, special damages like treble damages for willful infringement, atty fees


B. injunctions

1) 2 types

a) permanent injunctions—if there’s a really heavy public interest; this generally doesn’t happen


1. it’ll happen if infringement is found
b) preliminary injunctions—frequently sought, ordered more frequently in patent law than other areas of law

1. accused infringer has to establish substantial question of infringement or validity in order to defeat preliminary injunction



2) burden of proof

a) have to show likelihood of winning, irreparable harm, public interest, balance of hardship




b) burden is on moving party


C. damages

1) overview

a) 35 USC §284—damages adequate to compensate for infringement, but no less than reasonable royalty

b) reasonable royalty is the minimum baseline





1. facts to be considered (Georgia-Pacific has 15 factors)





a. what P’s property is






b. to what extent D has taken it






c. usefulness/commercial value by advantages of invention






d. extent of use
2. it’s really “reasonable royalty +” in order to punish people for infringement




c) people try to get lost profits





1. Panduit—to show lost profit, need to show






a. demand for product







1. sales of infringer shows demand

2. limits—have to be same customers (e.g., geographic), similar type product






b. no non-infringing substitutes

1. non-infringing substitutes are what people would have bought but for the infringement
a. substitutes that offer benefits of patented inventions
b. not things that are more expensive such that other people won’t buy them

c. if something is just cheap and cheaper in quality, not count

2. doesn’t have to be on the market (Grain Processing)





c. capability of exploiting market

1. have to have the capability to market and manufacturer in order to claim you would have lost a lot of money

2. however, can argue that if the other party didn’t infringe, could have made some money and use that money to expand

3. can include loss of sales of related product that wouldn’t have resulted but for the infringement (Rite-Hite)






d. profit that could have been made
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